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Notes: Common Logs and Natural Logs

Do Now: Evaluate each logarithm without a calculator.
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Think for a minute, describe when you have used each of the mathematical operations below

4) 2.4 x 10°

This nd'ld\or\ \S @l\ed S'CJU\‘h"FiQ (@h’“«\.
and is used B eresent vey jg oc smeal
num bels,

5)A = Pe't

This equehion 15 ysed + find conhavovs

Compounclzo\ m’kfes t. (\Iou mey ast hwc usd

'“MS ﬁuféﬁ:, 2! e ‘ou'|' Yov Wh “ use \+ (3 Io‘f

What Should I Be Able to Do?

- I can explain what a common logarithm is and why we use shorthand to write a common logarithm.

- I can explain what a natural logarithm is and why we use shorthand to write a natural logarithm.
- I can generalize a rule to simplify log, 1 and explain/justify why log, 1 simplifies to that given value.
- I can generalize a rule to simplify log, a and explain/justify why log, a simplifies to that given value.

- I can generalize a rule to simplify log, a* and explain/justify why log, a* simplifies to that given value.

- I can generalize a rule to simplify a'°8«* and explain/justify why a'°8=* simplifies to that given value.




Since we frequently use 10 or e as a base for exponential expressions and equations, we give the
logarithms with a base of 10 or e a special name.

Common Logarithm:

The logarithm with base 10 is called the common logarithm and is written by excluding the base:
log, , x = logx

Evaluate or estimate the following logarithms:
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Scientific calculators of a 1.OG _ button you can press to evaluate any common log. Check each of you
answers using the calculator. .
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Natural Logarithm:
The logarithm with base e is called the natural logarithm and is written by In:
log,x =1Inx

Scientific calculators of a LN button you can press to evaluate any natural log. Use your calculator to
evaluate the following:
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Simplify the following logarithmic expressions:
Diogg 12 X 2)log, 1 % X 3)log, 1%
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Generalize your findings:

log, 1= 0

Explain why this is true, using correct and effective mathematical vocabulary.
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Slmphfy the following logarithmic expressmns
1)log,2 2% 2)log,, 12 8 X 3)log, x £
2 =1z xY=x
2 =2 m 12" = x'eX
2.2 [0 ]

Generalize your findings:

log,a = \

Explain why this is true, using correct and effective mathematical vocabulary
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Simplify the following logarithmic expressions:
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Generalize your findings:

Explain why this is true, using correct and effectlﬁr\nathematlcal vocabulary.
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Generalize your findings:
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Putting Everything Together B B RN

Simplify the following logarithmic expressions:
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Success Criteria

- I can explain what a common logarithm is and why we use shorthand to write a common logarithm.
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- I can explain what a natural logarithm is and why we use shorthand to write a natural logarithm.
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- I can generalize a rule to simplify log, a* and explain/justify why log, a* simplifies to that given value.
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- Lcan generalize a rule to simplify a'°82* and explain/justify why a'°82* simplifies to that given value.

Since. logq X and o greinverse operutuns, they
wovld cancel gut dhus \uﬁt\ﬂ st fhe. arqument ).




Name: Date:

Logarithm Practice

Convert each exponential equation into its equivalent logarithmic equation.

Det=x 2) 103 = 1000 3)2Y = 14 4)al® = 76
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Convert each logarithmic equation into its equivalent exponential equation.
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Evaluate each logarithm without a calculator.
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25) Is the following equation true or false? Justify your answer.
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26) Is the following equation true or false? Justify your answer.

log(—100) = -2
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27) Is the following equation true or false? Justify your answer.
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Evaluate each of the following expressions without a calculator.
28)log 1000 + Ine 29) JPM +Mmg®
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Using you calculator, round each expression to the nearest thousandth.
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37) A group of scientists are studying the division of amebas to better understand how to better treat
patients. The ameba the scientists are studying divides itself into two amebas every hour. The scientists
use the equation t = log, A where ¢, is the number of hours it takes to produce A number of amebas.

Find, to the nearest hundredth of an hour, how long it takes to produce 25,000 amebas if the scientists
start with one ameba.
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Evaluate the following expression without a calculator.
log 7 1-log0.1
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Looking Ahead...
Describe the transformation being done from the graph of f(x) to obtain the graph of g(x).

39) f(x) =Ilnx 40) f(x) = logx

g(x) =In(x —4) g(x) =logx+9
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